

Request for Quotation

13

LGLOVES11

PAGE

IdA	PESS C	ORRESP	ONDEN	CETOAT	TENTIO	N OF:
IVER	42					

BUYER 42 304-558-8802

>mz¤oœ

The Glove Box, Inc. PO Box 410392 Charlotte, NC 28241

&H-₽ ∓0

DATE PRIN	red	TER	MS OF SALE		SHIPV	IA		F.O.B		FREIGHT TERMS
08/10/										
BID OPENING DATE:		09/07/	2011			BID	OPENIN	G TIME	01	:30PM
LINE	QUAN	ITITY	UOP	CAT. NO.	ITEM NUN	IBER		JNIT PRICE		AMOUNT
	BIDS F	OR A B EXAM	LANKET GLOVES	OPE TO	HASING DI N-END STA VARIOUS S	TEWIDE	CONTRA	CT TO		
	OF BUS USPS, VENDOR QUESTI QUESTI RECEIV	N QUES INESS FAX, C RECEI ON WIL ONS AR ED, IF	ON 08/ OURIER VES AN L BE A E PREF ANY,	22/2 OR UNF NSWE ERRE WILL	L BE ACCE 011. QUES E-MAIL. I AIR ADVAN RED ORALL D. ALL TE BE ADDRE EADLINE.	TIONS M N ORDER TAGE, N Y. IF P CHNICAL	AY BE TO AS O SUBS OSSIBL QUEST	SENT VIA SURE NO TANTIVE E, E-MAI IONS		
	PURCHA 2019 W	SBET IRGINI SING D ASHING STON, 04.558	A DEPAIVISIO TON ST WEST V	RTME IN REET IRGI	NIA 25305		TION	艾梅斯,这	() ne (A 10: 16: A 10: 16: A 10: 16: A 10: WV
0001	GLOVES	1	PK , DISP	. LA	998-67-01 TEX, NON-	STERILE				
SIGNATURE (/ 			ort HEV	ERSE SIDE FOR TE			, In	ATE	
d	(\smile)					relephone 704-	<u> 248-</u> 0	6696		Sept 6,2011
TITLE Property	face .	FE	IN 27 5	3/ 1	1451		A	DDRESS CHAN	IGES	TO BE NOTED ABOVE



VEZDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for **Quotation**

I GLOVES 11

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

The Glove Box, Inc.
PO Box 410392
Charlotte, NC 28241

DATE PRINT	ΈD	TER	MS OF SAL	E	SHIPV	IA	F)	O.B.	FREIGHT TERMS
08/10/	2011								
BID OPENING DATE:		09/07/	2011			BID	OPENING	TIME 01	:30PM
LINE	QUAN	YTITY	UOP	CAT. NO.	ITEM NUX	1BER	UNI	TPRICE	AMOUNT
	AS HOS SUBDIV ORDERS	PITALS ISIONS	GLOV , REG , PER BE D	ATEWI ES TO IONAL THE	DE CONTRA VARIOUS JAILS, P ATTACHED RED WITHI	STATE A RISONS SPECIFI N TEN(1	GENCIES AND POLI CATIONS.	SUCH ITICAL	
	DELIVE ARE PL ALL OR FOB: D THIS C PRODUC THAN \$ (AND A PURCHA CHARGE SEPARA	RED WI ACED. DERS TO ESTINA ONTRAC TS IN 100.00 GENCY SED FR S. AL	THIN TION() TIS EXCES MAY PAYINO COM LOO L SHI	FIVE NG \$1 VENDO MANDA S OF BE PU G SHI CAL S PPING	(5) WORKI 00.00 OR R SHALL P TORY FOR \$100.00. RCHASED T PPING CHA OURCE TO COST WIL HE ORIGIN	MORE SH AY ALL ALL ORD FOR A HROUGH RGES), SAVE TH L BE IN	AFTER CALL BE IN SHIPPING ERS OF IN THIS CONTINUES OF MAY BE SHIPPING OF THE S	DRDERS DELIVERED G CHARGES) THESE RS LESS ITRACT BE ING	
	OF PURI	CUMVEN CHASIN T 3 F CONTI WARD AI R UNTII ARY TO AL CON CEED T	T THI G POL RACT: ND EX L SUCH OBTA TRACT	S LIM ICY. TH TENDS H "RE IN A IN A (12) MAY T	UING A SE IT) IS A IS CONTRA FOR A PE ASONABLE NEW CONTR E "REASON MONTHS. ERMINATE	DIRECT CT BECO RIOD OF TIME" T ACT OR ABLE TI DURING THIS CO	VIOLATIO MES EFFE ONE (1) HEREAFTE RENEW TH ME" PERI THIS "R NTRACT F	ECTIVE ER AS IS HE EOD SHALL REASONABLE	
TLE:		FEI	INI						
116		Jr Ei	IIN				ADD	RESS CHANGES	TO BE NOTED ABOVE



Request for Quotation

123

LGLOVES11

BUYER 42 304-558-8802

ADDRESS CORRESPONDENCE TO ATTENTION OF:

VENDOR

The Glove Box, Inc. PO Box 410392 Charlotte, NC 28241

ď

DATE PRINTED	TERMS OF SALE	SHIP VIA	F.O.B.	FREIGHT TERMS
08/10/2011				
BID OPENING DATE: 09/0	7/2011	BID	DPENING TIME 0	L:30PM
LINE QUANTITY	UOP CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
REASON UPO WRITTEN NO		DIRECTOR OF PUR	CHASING 30 DAYS	
IN THIS CO	NTRACT DOCUM	IONS ARE STIPULA ENT, THE TERMS, FIRM FOR THE LI	CONDITIONS AND	
WRITTEN CO SUBMITTED DAYS PRIOR BE IN ACCO	NSENT OF THE TO THE DIREC TO THE EXPI RDANCE WITH ONTRACT AND	MAY BE RENEWED SPENDING UNIT A TOR OF PURCHASIN RATION DATE. SU THE TERMS AND CO SHALL BE LIMITED	ND VENDOR, G THIRTY (30) CH RENEWAL SHALL NDITIONS OF THE	
RIGHT TO C NOTICE TO SUPPLIED A	ANCEL THIS C THE VENDOR I RE OF AN INF	CTOR OF PURCHASIONTRACT IMMEDIATE F THE COMMODITIES ERIOR QUALITY OR OF THE BID AND C	ELY UPON WRITTEN S AND/OR SERVICES DO NOT CONFORM	6
AUTHORIZE MARKET, WI ESTIMATE, IMMEDIATE CAUSES (IN	A SPENDING UTHOUT THE FI ITEMS SPECIF DELIVERY IN CLUDING BUT	E DIRECTOR OF PUNIT TO PURCHASE LING OF A REQUISIED ON THIS CONTINUES DUE TO DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT DISTRICT D	ON THE OPEN ITION OR COST RACT FOR TO UNFORESEEN ELAYS IN TRANS-	
APPROXIMAT THE STATE THAT THE C	IONS ONLY, B SPENDING UNI ONTRACT SHAL R DELIVERY D	LISTED IN THE R ASED ON ESTIMATE: T. IT IS UNDERS L COVER THE QUAN URING THE TERM O	S SUPPLIED BY TOOD AND AGREED TITIES ACTUALLY F THE CONTRACT,	
SIGNATURE	see re	VERSE SIDE FOR TERMS AND CON TELEPHONE	IDITIONS DATE	
TITLE	FEIN		ADDRESS CHANGES	S TO BE NOTED ABOVE



Request for Quotation

LGLOVES11

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

YENDOR

The Glove Box, Inc. PO Box 410392
Charlotte, NC 28241

6H P TO

08/10/2011	TERMS OF	SALE	SHIP VIA	F,O.B.	FREIGHT TERMS
BID OPENING DATE:	09/07/201	1	RTD	OPENING TIME 01	:30PM
LINE OLI		, CAT			
WHETH ORDER WRITT THE V THE O VENDO MAILE RETAI BANKR FOR B CONTR WITHO THE T SHALL CONDI	ING PROCEDS EN STATE CO EN STATE CO ENDOR FOR CO RIGINAL COI R AS AUTHOR D TO THE PO NED BY THE UPTCY: IN ANKRUPTCY I ACT NULL AR UT FURTHER ERMS AND CO SUPERSEDE TIONS WHICH	LESS THAN TO TRACT ORDER THE WARD THE EVENT TO PROTECTION, AND VOID, AND ORDER. CONDITIONS CO ANY AND ALLER MAY APPEAR	R (FORM NUM COVERED BY /-39 SHALL BR SHIPMENT, IVISION, AND HIT. THE VENDOR/C THE STATE MO TERMINATE ONTAINED IN SUBSEQUENT	HALL ISSUE A BER WV-39) TO THIS CONTRACT. E MAILED TO THE A SECOND COPY A THIRD COPY ONTRACTOR FILES AY DEEM THE SUCH CONTRACT THIS CONTRACT TERMS AND ACHED PRINTED	AMOUNT
THE MITHE AIINTENIALTERI	RONIC MEDIC DDEL/BRAND/ CCEPTABLE L DED TO REFL CULAR BRANI NATES SHOUL ATURE AND S MATION FOR TION OF THE CORDANCE WI	JM SUCH AS CONSTRUCT AND SO STATE SPECIFICATION THE ITH SECTION ATIVE RULES	D-ROM. ONS NAMED H LITY ONLY A RENCE OR FA VENDORS W AND INCLUDE INS. FAILUR ITES MAY BE STATE RESER	VOR ANY HO ARE BIDDING PERTINENT E TO PROVIDE GROUNDS FOR VES THE RIGHT OR SPECIFICATIONS OF THE WEST	
TITLE	FEIN				
\$115.C	FEIIV			ADDRESS CHANGES	TO BE NOTED ABOVE



プログログログ

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

LGL0VES11

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF:

BUYER 42 304-558-8802

23

The Glove Box, Inc. PO Box 410392
Charlotte. NC 28241

SH-P TO

DATE PRIN	red	TEI	RMS OF SA	E		SHIP VIA		F.(O. B ,		FREIGHTTERMS
08/10/											
BID OPENING DATE:		09/07/	2011		lokalno da sada sada na	В	ID	OPENING	TIME	01	:30PM
LINE	PURCHA CURREN IS ISS MUST A CARD F AGENCY THIS T VERSIO HTTP:/	TLY UTUED THE CCEPT OR PAY AS A EAM EX N WHICH WWW.S ED BILL EPARTM URCHAS UILDIN 019 WARLES D SHOUVELOPE	ARD A ILIZE ROUGH THE S MENT CONDI VEND HIBIT H IS TATE. MUST SING D IG 15 SHING TON,	S A VA A BA TATE OF AL TION OR PR HASIL WV.US NOT BE S F ADM IVISI TON 2 NTAIN	ANCE: ISA PUNK. ISA PTOF WESE OF AWA EFERN R ABLENIN ICE UBMITT INISTR ON TREET, 5305-0 THIS	THE STURCHASING HE SUCCET VIRGIERS PLACED INFORMA	ATE G C ESS NIA ED IFI BY SE/	OF WEST ARD PROG FUL VEND VISA PU BY ANY S	VIRGI GRAM WHOOR IRCHASI TATE	INIA IICH ING	AMOUNT
	SEALED BUYER:	BID			·			FILE	42		
				SEE RE	VERSE SIDE	FOR TERMS AN	ID CON	NDITIONS			
SIGNATURE			uvinastinti (1966)			TELEPHO				DATE	
Trippi Ir		le.	PINI								
TITLE]-	EIN					ADD	RESS CHA	NGES	TO BE NOTED ABOVE



NODZE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

23

LGLOVES11

3	300	PAGE
		4

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

The Glove Box, Inc.
PO Box 410392
Charlotte, NC 28241

SH-P FO

RFQ. NO.: BID OPENING DATE: BID OPENING TIME: PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID: CONTACT PERSON (PLEASE PRINT CLEARLY): ****** THIS IS THE END OF RFQ LGLOVES11 ****** TOTAL:	08/10/2	2011	<u> </u>	HIVIS OF SAI		SHE	V.A	F.U.B	FREIGHTTERMS
RFQ. NO.: BID OPENING DATE: BID OPENING TIME: PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID: CONTACT PERSON (PLEASE PRINT CLEARLY): ****** THIS IS THE END OF RFQ LGLOVES11 ****** TOTAL: SEE REVERSE SIDE FOR TERMS AND CONDITIONS	BID OPENING DATE:		09/07	/2011	Liver de l'accessor		BID	OPENING TIME (01:30PM
RFQ. NO.: BID OPENING DATE: BID OPENING TIME: PLEASE PROVIDE A FAX NUMBER IN CASE IT IS NECESSARY TO CONTACT YOU REGARDING YOUR BID: CONTACT PERSON (PLEASE PRINT CLEARLY): ****** THIS IS THE END OF RFQ LGLOVES11 ****** TOTAL: SEE REVERSE SIDE FOR TERMS AND CONDITIONS	LINE	QUAN	NTITY	UOP	CAT NO.	ITEM NU	MBER	UNIT PRICE	AMOUNT
PLEASE PROVIDE A FAX NUMBER IN CASE IT TO CONTACT YOU REGARDING YOUR BID: CONTACT PERSON (PLEASE PRINT CLEARLY): ****** THIS IS THE END OF RFQ LGLOVES11 ****** TOTAL: SEE REVERSE SIDE FOR TERMS AND CONDITIONS				DATE:					
TO CONTACT YOU REGARDING YOUR BID: CONTACT PERSON (PLEASE PRINT CLEARLY): ****** THIS IS THE END OF RFQ LGLOVES11 ****** TOTAL: SEE REVERSE SIDE FOR TERMS AND CONDITIONS		BID OP	ENING	TIME:				1:30 PM	***************************************
	(TO CON CONTAC	TACT	YOU RE	GARDI LEASE	NG YOUR E	EARLY):		
				1					
ISIGNATURE TO THE TOTAL THE TOTAL TO THE TOTAL THE TOTAL TO THE TOTAL					SEERE	VERSE SIDE FOR 1		1 ** 1 / 2 1	
The state of the s	SIGNATURE						TELEPHONE	DAT	E
TITLE ADDRESS CHANGES TO BE NOTED ABOVE	TITLE		[1	FEIN			i	ADDRESS CHANG	ES TO BE NOTED ABOVE

LGLOVES11 SPECIFICATIONS

SPECIAL CONDITIONS:

Samples: Samples of items bid shall be received in individually marked packages for examination and testing upon request and should be submitted with your bid. The State of West Virginia reserves the right to perform inspections and tests that are deemed necessary to assure that commodities conform to the prescribed requirements. Random samples may be selected from delivered commodities in order to assure compliance with these specifications. Failure to supply samples can result in bid disqualification.

Orders shall be delivered within ten (10) working days after orders are placed. Emergency orders shall be delivered within five (5) working days after orders are placed. Spending units must be advised in writing if orders will be delayed for any reason. Contractor shall carry an adequate stock to insure such delivery service for the duration of the contract.

All orders from this contract totaling \$100.00 or more shall be delivered FOB: Destination (vendor shall pay all shipping charges). This contract is mandatory for all orders of these products in excess of \$100.00. For all orders less than \$100.00 may be purchased through this contract (and agency paying shipping charges), or may be purchased from local source to save the shipping charges. All shipping cost will be invoiced as a separate charge with the original freight bill attached to the invoice.

NOTE: Stringing (issuing a series of requisitions to circumvent this limit) is a violation of Purchasing Policy.

The vendor shall not substitute any other brand of exam gloves from those awarded, nor sell any additional items under this contract not specifically covered herein, without prior written permission of the purchasing division.

Vendors must be manufacturers or regular, stocking dealers for the products they propose to offer and must carry a reasonable inventory of these products to meet the needs of state agencies. Vendors must agree to allow their stockrooms and warehousing facilities to be inspected by state purchasing at any time during the contract period.

Vendor is to provide a summary report of procurement volumes by item number and dollar amounts. This is a single report which is to be furnished upon request.

LGLOVES11 SPECIFICATIONS

STANDARDS

Gloves shipped under this contract (other than polyethylene gloves) must conform to the following:

- Most recent ASTM D3577 and D3578 standards.
- Most recent ASTM F1671 (test requirements for viral resistance) standard.
- BS EN 455-2000 (Parts 1 and 2 and clause 4.5 of Part 3).
- Polyethylene gloves shall be in conformance with FDA Rule 177.1520 for food contact.

No products covered by this specification shall be shipped to the user more than twelve (12) months from the date of manufacture.

MATERIALS:

<u>LATEX</u> gloves shall be compounded from virgin natural latex or any polymer compound that permits the glove to meet the specifications and is approved by the Food and Drug Administration.

VINYL gloves shall be compounded primarily from polyvinylchloride (PVC) paste.

<u>NITRILE</u> gloves shall be compounded primarily from a rubber cement or a synthetic polymer (e.g. "Nitrile").

POLYETHYLENE gloves shall be compounded from virgin polyethylene.

DESIGN:

Gloves (other than polyethylene gloves) shall be thin, soft, flexible, non-toxic, moisture resistant, and shall be of seamless construction and designed as ambidextrous.

The cuff shall be beaded, where indicated.

GENERAL INFORMATION:

All quantities are approximations only.

The award of this purchase order will be made to one bidder based on the low cost and best interest of the state. The award will not be split by item.

Gloves must be equal to the minimum specifications or better.

Vendor Pricing Page LGLOVES11

I. VINYL EXAMINATION GLOVES (POWDERED):

Medical Grade, non-sterile, .08 mm minimum thickness, seamless, beaded cuff, ambidextrous, 100/box

BRAND:					Est. Quantity	Unit	Extended
	ITEM NO. 8. SIZE	Our# CATAL	ALOG NO. MER#	PRICING / 100	Per Boxes /100	Price	Price
Small		VN106	21211	\$2.67	15		\$40.05
Medium		VN107	21212	\$2.67	33		\$88.11
Large		VN108	21213	\$2.67	27		\$72.09
		VN109	21214	\$2.67	20		\$53.40

II. VINYL EXAMINATION GLOVES (POWDER FREE):

RRAND					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	CATAL	CATALOG NO.	PRICING / 100	Per Boxes /100	Price	Price
Small		PFV106	20211	\$3.46	630		\$2179,80
Application		PFV107	20212	\$3.46	3120		\$10,795.20
		PFV108	20213	\$3.46	2670		\$9,238.20
Visco		PFV109	20214	\$3.46	6705		\$23,199.30

III. LATEX EXAMINATION GLOVES (POWDER FREE, SMOOTH FINISH):

Medical Grade, non-sterile, .15 mm minimum thickness, seamless, beaded cuff, ambidextrous. 100/box.

S AND					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	CATAL	CATALOG NO.	PRICING / 100	Per Boxes /100	Price	Price
		50100	1202	\$6.63	816		\$5410.08
OI I I I	***************************************	55100	1000	\$6.63	5145		\$34,111.35
Medium		FFIU	1703	00.04	2		456 407 00
Large		PF108	1204	\$6.63	8511		\$20,427.93
Yioro		PF109	1205	\$6.63	6738		\$44,672.94
a Arient							

IV. LATEX EXAMINATION GLOVES (POWDER FREE, TEXTURE GRIP):

Medical Grade, non-sterile, .15mm minimum thichness, seamless, beaded cuff, ambidextrous. 100/box

		. Care a			Est. Quantity	Unit	Extended
aranc.	Tric o (1) state	LATAL	014.00	DEICHAS / 400	Per Roxes /100	Price	Price
	HEMINO. & SIZE	מיאל	ALCG NC.	2000			1
		TDF106	10111	\$5,39	735		\$3,961.65
O S		27.4.40					610 107 10
8 4 5 di 197		TPF107	10112	\$5.39	1890		\$10,10/.1U
ivieuiuri		,01777	44.54	diameter and the second			610 000 7.1
		ጥውምነ በጽ	10113	\$5,39	2019		\$10,002.41
25,07		007777					46 706 33
Xlarge		TPF109	10114	\$5,39	888		\$4,700.32

LGLOVES11 Vendor Pricing Page

V. NITRILE EXAMINATION GLOVES (POWDER FREE, TEXTURE GRIP):

Non-sterile, . 13 mm minimum thickness, seamless, beaded cuff, ambidextrous. 100/box.

BRAND:					Est. Quantity	Cark	Extended
	ITEM NO. & SIZE	Our# CATALOG NO.Mfg#	LOG NO.Mfg#	PRICING / 100	Per Boxes /100	Price	Price
Small		PFN1260	UGNT8PF-S	\$5.70	20		\$114.00
Medium		PFN1270	UGNT8PF-M	\$5.70	20		\$114.00
Large		PFN1280	UGNT8PF-L	\$7.06	1653		\$11,670.18
Xlarge		PFN1290	UGNT8PF-XL	\$7.06	100		\$706.00

VI. NITRILE EXAMINATION GLOVE (POWDER FREE):

Non-sterile, .13mm minimum thickness, seamless, beaded cuff, ambidextrous, 100/box.

BRAND:					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	CATA	CATALOG NO.	PRICING / 100	Per Boxes /100	Price	Price
Small		PFN106	EN501	\$4.93	1920		\$9,465.60
Medium		PFN107	EN502	\$5.21	4851		\$25,273.71
Large		PFN108	EN503	\$5.21	3126		\$16,286,46
Xlarge	Narge PFN109	PFN109	EN504	\$5.21	2313		\$12.050.73

VII. POLYETHYLENE DISPOSABLE GLOVES:

1.25 mils minimum, powderless/sulpher free, ambidextrous, for food service and precision parts handling. 100/box

BRAND:					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	CATAL	CATALOG NO.	PRICING / 100	Per Boxes /100	Price	Price
Medium		FH1070	8091	\$0.63	20		\$6.03
Large		FH1080	8092	\$0.63	108		\$68.04

\$291,860.69

All usages are approximate, for evaluation purposes only and have been annualized.

GRAND TOTAL



Request for Quotation

13

LGLOVES11

ं	P	ĄĢ	E	
			1	

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 304-558-8802

304-5

SH-P

Ţ

The Glove Box, Inc.
PO Box 410392
Charlotte, NC 28241

DATE PRIN	TED	TER	MS OF SAI	.E		SHIP VIA		FOB;	FREIGHT TERMS
08/23/ BID OPENING DATE									
BID OPENING DATE	·	09/07/		0.4±		BID	OP:	ENING TIME 0:	L:30PM
LINE	QUAN	YTITY	UOP	CAT, NO.	ITE	MINUMBER		UNIT PRICE	AMOUNT
	2. REVI 3. ADDI SHOULI TO S	ISED C ENDUM D BE S SIGN A YOUR B	OST S ACKNO IGNED ND RE	ANSWE HEET WLEDG AND	ATTACH EMENT RETURN MAY RE	ATTACHED. ED. IS ATTACHE ED WITH YO SULT IN DI	UR SQI	THIS DOCUMENT BID. FAILURE UALIFICATION .: LGLOVES11	
	 ADDENĎI	JM ACK	NOWLE	OGEME	NT				
	ADDENDI MY PROI ADDENDI NO. 1 NO. 2 NO. 3 NO. 4 NO. 5	JM(S)	AND H. PLAN	AVE M S AND	ADE THI OR SPI	E NECESSAR ECIFICATIO	THE	E RECEIPT OF	
SIGNATURE (J ,			SEE HE	LHSE SIDE I	OR TERMS AND CO			7 / 0 0 0 0
L CY A		leer	N			704-0	24	8-6696 3	up+6,2011
TITLE DESICLES	,· 	rei	27-6	2914	<u>456 </u>			ADDRESS CHANGES	TO BE NOTED ABOVE



VENDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

23

LGLOVES11

PAGE 2

ADDRESS CORRESPONDENCE TO ATTENTION OF:	
BUYER 42	
2045599902	

The Glove Box, Inc. PO Box 410392 Charlotte, NC 28241

SH-P. TO

DATE PRINT	red	TE	RMS OF SA	LE	SH	IP VIA	FOB	FREIGHT TERMS
08/23/	2011							
BID OPENING DATE:		09/07/	2011			BID	OPENING TIME 0	1:30PM
LINE	QUAI	NTITY	UOP	CAT	ITEM I	NUMBER	UNITPRICE	AMOUNT
				NO.				
	THE A	DDENDU	M(S)	MAY B	E CAUSE	FOR REJE	CTION OF BIDS.	
							111111111111111111111111111111111111111	
							NY VERBAL	
							MADE DURING ANY	
1	1		1				REPRESENTATIVES	
	l .		1	l l	1		G. ONLY THE	
							ED TO THE	
	SPECI	FICALI	rhws B	X AIN	DEFICIAL	ADDENDO	M IS BINDING.	
						A C		1
						S	IGNATURE	•
				ļ	_	77 66.	2 . /	
	,				l	Me GIOVE	100x , /2.c.	
						CO	MPANY	
					1	/11 = 0 =	BOX, /2c. MPANY 011	
					7,			
						DA	re	
•				рм ас	KNOWLEDG	SEMENT SH	P ULD BE SUBMITTE	D
1	WITH T	HE BII) ₋					
				L				
			EN	POF.	ADDENDUM	1 NO. 1		
					:			1
								1
:								
4								
0001			PK		998-67-C	1-021		
		1						
	GLOVES	, EXAM	, DIS	P. LA	TEX, NON	-STERILE		
				SEE RE	VERSE SIDE FO	R TERMS AND CO		
SIGNATURE						TELEPHONE	DATE	
TITLE		Ţi	EIN				ADDRESS CHANGE	S TO BE NOTED ABOVE
[



Request for Quotation

LGLOVES11

PAGE 3

ADDRESS CORRESPONDENCE TO ATTENTION OF

BUYER 42 804-558-8802

73

The Glove Box, Inc. PO Box 410392
Charlotte, NC 28241

DATEPRINIED	TEHMS OF SALE	SHIP VIA	E0.5	FREIGHT TEHMS
08/23/2011				
BID OPENING DATE: (09/07/2011		OPENING TIME 01	:30PM
LINE QUAN	ITITY UOP CAT	TEM NUMBER	UNIT PRICE	AMOUNT
*****		END OF RFQ LGLOVE		
	SEE	REVERSE SIDE FOR TERMS AND CO		
SIGNATURE		TELEPHONE	DATE	
TITLE	FEIN	TOTALAME AND ADDRESS		TO BE NOTED ABOVE

LGLOVES11 Vendor Pricing Page

I. VINYL EXAMINATION GLOVES (POWDERED):

Medical Grade, non-sterile, .08 mm minimum thickness, seamless, beaded cuff, ambidextrous, 100/box

BRAND:					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	Our# CATALOG NO. Mfg#	OG NO. Mfg#	PRICING / 100	Per Boxes /100	Price	Price
Small		VN106	21211	\$2.67	15		\$40.05
Medium		VN107	21212	\$2.67	33	***************************************	\$88.11
Large		VN108	21213	\$2.67	27		\$72.09
Xlarge		VN109	21214	\$2.67	20		\$53.40

II. VINYL EXAMINATION GLOVES (POWDER FREE):

Medical Grade, non-sterile, .08 mm minimum thickness, seamless, beaded cuff, ambidextrous. 100/box.

BRAND:					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	CATALOG NO.	OG NO.	PRICING / 100	Per Boxes /100	Price	Price
Small		PFV106	20211	\$3.46	630		\$2179.80
Medium		PFV107	20212	\$3.46	3120		\$10,795.20
Large		PFV108	20213	\$3.46	2670		\$9,238.20
Xiaroe		PFV109	20214	\$3.46	6705		\$23,199.30

III. LATEX EXAMINATION GLOVES (POWDER FREE, SMOOTH FINISH):

Medical Grade, non-sterile, .15 mm minimum thickness, seamless, beaded cuff, ambidextrous, 100/box.

BRAND:					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	CATALOG NO.	G NO.	PRICING / 100	Per Boxes /100	Price	Price
Small		PF106	1202	\$6,63	816		\$5410.08
Medum		PF107	1203	\$6.63	5145		\$34,111.35
\{\text{Large}		PF108	1204	\$6.63	8511		\$56,427.93
Xlarge		PF109	1205	\$6.63	6738		\$44,672.94

IV. LATEX EXAMINATION GLOVES (POWDER FREE, TEXTURE GRIP):

Medical Grade, non-sterile, 15mm minimum thichness, seamless, beaded cuff, ambidextrous, 100/box.

BRAND:					Est. Quantity	Unit	Extended
	ITEM NO. & SIZE	CATAI	CATALOG NO.	PRICING / 100	Per Boxes /100	Price	Price
Small		TPF106	10111	\$5.39	735		\$3,961.65
Medium		TPF107	10112	\$5.39	1890		\$10,187.10
Laroe		TPF108	10113	\$5.39	2019		\$10,882.41
Xlarge		TPF109	10114	\$5.39	888		\$4,786.32

West Virginia Purchasing Division

LGLOVES11

Addendum questions and answers

- Q 1. What name brand of glove was used on the previous contract? (Mfg.'s name & product code).
- A 1. The West Virginia Purchasing Division Statewide Contract web site contains this information (http://www.state.wv.us/admin/purchase/swc/LGLOVES10.pdf)
- Q 2. Price per box.
- A 2. See answer to question I above. Information is available from the same location.
- Q 3. In the estimated quantities are those given in boxes or cases of 10 bxs?
- A 3. Estimated quantities are provided in boxes per 100 gloves per box
- Q 4. Must the boxes contain 100 gloves or can they contain more? Some of our gloves come 250 per box. Is the unit price to be broken down into boxes or each glove?
- A 4. Box quantity must be based upon 100 per box. Unit Price is based as a box of 100 gloves. (see revised Cost Sheet)
- Q 5. What does stringing mean?
- A 5 Issuing a series of Requisitions or Purchase Orders to circumvent competitive bidding or to defeat the State Purchasing Card transaction or delegated purchasing limit. This is an Agency purchasing term
- Q 6. Could you explain the Open market Clause?
- A 6. Allows the Director of Purchasing to authorize a spending unit to purchase on the open market, without the filling of a Requisition or cost estimate, items specified on this Contract for immediate delivery in emergencies due to unforeseen causes.
- Q 7. How do I quote the emergency orders?
- A 7. Emergency orders are priced at the Contract prices just delivered on a shorter time frame.

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with West Virginia Code, §5A-3-37. (Does not apply to construction contracts). West Virginia Code, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the West Virginia Code. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

1.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preced-	
	ing the date of this certification; or , Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or , Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or ,	
2.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,	
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,	
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,	
5.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,	
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.	
require against	understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ments for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency cted from any unpaid balance on the contract or purchase order.	
authorize the requ	mission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and test the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid uired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information d by the Tax Commissioner to be confidential.	
and ac	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate es during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.	
Bidder: Signed:		
Matac	Title	

*Check any combination of preference consideration(s) indicated above, which you are entitled to receive.

RFQ No.	
---------	--

Purchasing Affidavit (Revised 12/15/09)

STATE OF WEST VIRGINIA Purchasing Division

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

Under penalty of law for false swearing (**West Virginia Code** §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidavit and is in compliance with the requirements as stated.

TO THE THE COL